

MCC LIBRARY STATISTICAL SUPPLEMENT FEBRUARY 2, 2024

LIMITED OVERS INTERNATIONAL AUSTRALIA V WEST INDIES

AUSTRALIA v WEST INDIES IN ODIS

Summary Match Results at all Venues

Location		A	australia	ļ			West Indies				
Location	P	W	L	Т	NR	P	W	L	Т	NR	
MCG	28	13	13	1	1	28	13	13	1	1	
Other Aust. venues	52	28	22	-	2	52	22	28	-	2	
West Indian home venues	48	27	19	2	1	48	19	27	2	-	
Neutral venues	15	8	7	-	1	15	7	8	-	-	
Totals	143	76	61	3	3	143	61	76	3	3	

Notes: The West Indies and Australia played their first ODI at The Oval in London in June 1975 during the inaugural World Cup. **Other Australian venues** include Sydney, Brisbane, Adelaide, Perth and Canberra

West Indian home venues include Kingston, Port of Spain, Bridgetown, Kingston, Castries, Albion, Georgetown, Kingstown, St George's, Gros Islet, North Sound, Basseterre and Providence.

Neutral venues were part of World Cups and other international tournaments and include The Oval, Lord's, Leeds, Manchester, Nottingham, Kuala Lumpur, Chennai, Jaipur, Mohali, Mumbai and Johannesburg.

Summary Match Results at the MCG

Summary Materi Results at the MOG												
Date	Toss	Innings 1	Score	Inns 2	Score	Result						
9 December, 1979	Australia	West Indies	2/271	Australia	8/191	West Indies won by 80 runs						
10 January, 1982	Australia	Australia	146	West Indies	5/147	West Indies won by five wickets						
23 January, 1982	Australia	West Indies	216	Australia	130	West Indies won by 86 runs						
24 January, 1982	West Indies	West Indies	235	Australia	107	West Indies won by 128 runs						
8 January, 1984	West Indies	West Indies	7/221	Australia	194	West Indies won by 27 runs						
22 January, 1984	West Indies	West Indies	252	Australia	226	West Indies won by 26 runs						
11 February, 1984	West Indies	West Indies	222	Australia	222	Tied						
12 February, 1984	Australia	Australia	8/212	West Indies	4/213	West Indies won by six wickets						
6 January, 1985	West Indies	Australia	6/240	West Indies	3/241	West Indies by seven wickets						
20 January, 1985	Australia	West Indies	7/271	Australia	9/206	West Indies won by 65 runs						
10 February, 1985	West Indies	Australia	3/271	West Indies	6/273	West Indies won by four wickets						
20 January, 1987	West Indies	Australia	6/181	West Indies	3/182	West Indies won by seven wickets						
15 December, 1988	West Indies	West Indies	236	Australia	202	West Indies won by 34 runs						
5 January, 1989	West Indies	Australia	226	West Indies	8/218	Australia won by eight runs						
14 January, 1989	Australia	Australia	9/204	West indies	9/202	Australia won by two runs						
12 December, 1991	Australia	Australia	9/173	West Indies	164	Australia won by nine runs						
9 January, 1992	West Indies	West Indies	7/160			No Result						
18 March, 1992	Australia	Australia	6/216	West Indies	159	Australia won by 57 runs						
15 December, 1992	Australia	Australia	8/198	West Indies	194	Australia won by four runs						
18 January, 1993	West Indies	Australia	147	West Indies	6/148	West Indies won by four wickets						
19 December, 1995	Australia	Australia	6/249	West Indies	225	Australia won by 24 runs						
6 December, 1996	West Indies	West Indies	172	Australia	5/173	Australia won by five wickets						
11 January, 2001	Australia	Australia	6/267	West Indies	7/193	Australia won by 74 runs						
9 February, 2001	West Indies	Australia	6/338	West Indies	299	Australia won by 39 runs						
14 January, 2005	Australia	Australia	4/301	West Indies	185	Australia won by 116 runs						
7 February, 2010	West Indies	Australia	8/256	West Indies	143	Australia won by 113 runs						
19 February, 2010	Australia	Australia	5/324	West Indies	199	Australia won by 125 runs						

Summary Scores in the Most Recent MCG Match

At MCG, February 10, 2013: **WEST INDIES** won the toss and put **AUSTRALIA** in to bat. **AUSTRALIA** 5/274 (50 overs) (AC Voges 112*, BJ Haddin 43, SE Marsh 40, JP Faulkner 31*; DJ Bravo 2/62, TL Best 2/71) **defeated WEST INDIES 257** (49.5 overs) (J Charles 100, KA Pollard 45, DM Bravo 33; MG Johnson 3/50, CJ McKay 3/52) **by 17 runs**. *Player of the match*: Adam Voges

AUSTRALIA V WEST INDIES ODIS AT ALL VENUES

Highest Innings Totals

Score	Overs	R/Ov	Country	Location	Date	Result
8/341	50.0	6.82	Australia	Basseterre	6 July, 2008	Won
6/338	50.0	6.76	Australia	Melbourne	9 February 2001	Won
7/329	50.0	6.58	Australia	Canberra	6 February, 2013	Won
5/324	50.0	6.48	Australia	Melbourne	19 February, 2010	Won
7/324	50.0	6.48	Australia	Brisbane	14 February, 2010	Won
6/322	50.0	6.44	Australia	North Sound	27 March, 2007	Won
9/313	50.0	6.26	West Indies	St John's	22February, 1978	Won
4/301	50.0	6.02	Australia	Melbourne	14 February, 2005	Won
299	49.3	6.04	West Indies	Melbourne	9 February, 2001	Lost
7/294	50.0	5.88	West Indies	Gros Islet	23 March, 2012	Won
8/291	60.0	4.85	West Indies	Lord's	21 June 1975	Won
5/290	50.0	5.80	West Indies	Port of Spain	25 May, 2003	won

Lowest Completed Innings Totals

Score	Overs	R/Ov	Country	Location	Date	Result
70	23.5	2.93	West Indies	Perth	1 February, 2013	Lost
87	29.3	2.94	West Indies	Sydney	8 December, 1992	Lost
91	35.4	2.55	Australia	Perth	4 January, 1987	Lost
107	32.2	3.30	Australia	Melbourne	24 January, 1982	Lost
110	46.4	2.35	West Indies	Manchester	30 May, 1999	Lost
113	34.2	3.29	West Indies	Kuala Lumpur	24 September, 2006	Lost
116	32.3	3.56	West Indies	Providence	5 June, 2016	Lost
119	37.2	3.18	West Indies	Sydney	7 February, 2001	Lost
123	26.2	4.67	West Indies	Bridgetown	20 July, 2021	Lost
123	35.1	3.49	West Indies	Adelaide	26 January, 2001	Lost
127	31.1	4.07	West Indies	Port of Spain	9 March, 1991	Lost
130	37.4	3.45	Australia	Melbourne	23 January, 1982	Lost

Highest Batting Scores

				_			
Player	Score	48	6s	Balls	Country	Location	Date
ME Waugh	173	16	3	148	Australia	Melbourne	9 February, 2001
ML Hayden	158	14	4	143	Australia	North Sound	27 March, 2007
IVA Richards	153*	16	1	130	West Indies	Melbourne	9 December, 1979
DL Haynes	148	16	2	136	West Indies	St John's	22 February, 1978
BC Lara	139	15	3	168	West Indies	Port of Spain	12 March, 1995
DL Haynes	133*	14	-	147	West Indies	Albion	29 February, 1984
AR Border	127*	13	-	140	Australia	Sydney	6 February, 1985
SR Watson	126	15	2	122	Australia	St George's	29 June, 2008
GJ Bailey	125*	10	4	110	Australia	Perth	3 February, 2013
WW Hinds	125*	5	6	140	West Indies	St George's	30 May, 2003
MN Samuels	125	14	2	134	West Indies	Bridgetown	21 June, 2016
DL Haynes	123*	15	-	130	West Indies	Melbourne	6 January, 1985

Highest Overall Partnerships

Players	Score	Country	Location	In	Out	Wkt	Date
AC Gilchrist, ME Waugh	206	Australia	Brisbane	-	1/206	1	14 January, 2001
DL Haynes, IVA Richards	205	West Indies	Melbourne	1/28	2/233	2	9 December, 1979
D Ramdin, MN Samuels	192	West Indies	Bridgetown	3/31	4/223	4	21 June, 2016
RT Ponting, SR Watson	190	Australia	St George's	1/1	2/191	2	29 June, 2008
WW Hinds, BC Lara	178	West Indies	Port of Spain	1/5	2/183	2	25 May, 2003
MG Bevan, DS Lehmann	172*	Australia	St George's	4/116	4/288	5	14 April, 1999
UT Khawaja, SPD Smith	170	Australia	Basseterre	1/1	2/171	2	13 January, 2016
DL Haynes, RB Richardson	167	West Indies	Albion	1/62	2/229	2	29 February, 1984
BJ Haddin, MEK Hussey	165	Australia	Kuala Lumpur	5/104	6/269	6	18 September, 2006
CL Hooper, BC Lara	154	West Indies	Brisbane	2/45	3/199	3	5 January, 1997
CH Lloyd, IVA Richards	153*	West Indies	Perth	2/37	2/190	2	20 December, 1981

Best Bowling Analysis in an Innings

Player	Analysis	Overs	Maidens	Country	Eco Rate	Venue	Date
WW Davis	7/51	10.3	-	West Indies	4.85	Leeds	11 June, 1983
AH Gray	6/50	9.0	-	West Indies	5.55	Port of Spain	9 March, 1991
GD McGrath	5/14	8.4	3	Australia	1.61	Manchester	30 May, 1999
CEL Ambrose	5/17	8.2	1	West Indies	2.04	Melbourne	15 December, 1988
MA Starc	5/20	6.5	2	Australia	2.92	Perth	1 February, 2013
ME Waugh	5/24	6.0	-	Australia	4.00	Melbourne	15 December, 1992
MA Holding	5/26	10.0	1	West Indies	2.60	Sydney	12 February, 1985
CEL Ambrose	5/26	10.0	2	West Indies	2.60	Melbourne	14 January, 1989
MGJohnson	5/29	7.5	1	Australia	3.7	Basseterre	6 July, 2008
J Garner	5/31	10.0	1	West Indies	3.10	Melbourne	12 February, 1984
GBHogg	5/32	10.0	-	Australia	3.20	Melbourne	14 January, 2005
CEL Ambrose	5/32	9.3	2	West Indies	3.36	Sydney	16 January, 1993

Most Career Runs

Player	Country	Runs	M	Inn	NO	HS	Ave	100s	50s	BF	Sc Rt	Career
DL Haynes	West Indies	2262	64	64	8	148	40.39	6	13	3472	65.14	1978-1993
IVA Richards	West Indies	2187	54	50	7	153*	50.86	3	20	2584	84.63	1975-1991
BC Lara	West Indies	1853	48	47	3	139	42.11	3	15	2413	76.79	1991-2007
ME Waugh	Australia	1708	47	45	2	173	39.72	3	11	2237	76.35	1988-2001
AR Border	Australia	1546	61	60	6	127*	28.62	1	9	2348	65.84	1979-1993
RB Richardson	West Indies	1498	51	50	4	94	32.56	-	15	2368	63.26	1984-1996
RT Ponting	Australia	1475	45	45	4	106	35.97	2	12	1911	77.18	1995-2010
SR Waugh	Australia	1114	50	48	8	72 *	27.85	-	5	1547	72 . O1	1987-2001
CG Greenidge	West Indies	1091	35	35	1	100	32.08	1	6	1805	60.44	1975-1991
CL Hooper	West Indies	1088	40	37	4	110*	32.96	1	9	1428	76.19	1988-1999
CH Lloyd	West Indies	976	32	28	10	102	54.22	1	5	1197	81.53	1975-1985
GR Marsh	Australia	902	22	21	1	113	45.10	2	5	1622	55.61	1987-1992

Most Career Wickets

Player	For	Wkts	M	Balls	Runs	Best	4W/I	5W/I	Ave	St Rt	Ec Rt	Career
CJ McDermott	Australia	63	35	1769	1224	4/34	2	-	19.42	28.0	4.15	1985-1996
CEL Ambrose	West Indies	61	41	2213	1330	5/17	-	3	21.80	36.2	3.60	1988-1999
J Garner	West Indies	54	34	1864	1076	5/31	1	1	19.92	34.5	3.46	1978-1987
MA Holding	West Indies	52	35	1987	1185	5/26	2	1	22.78	38.2	3.57	1979-1987
SK Warne	Australia	50	27	1504	1045	5/33	2	1	20.90	30.0	4.16	1995-2001
BLee	Australia	49	26	1334	1060	4/24	3	-	21.63	27.2	4.76	2001-2012
MD Marshall	West Indies	47	40	2184	1399	4/18	2	-	29.76	46.4	3.84	1981-1992
MA Starc	Australia	43	10	679	502	5/20	-	5	11.67	15.7	4.43	2013-2021
SR Waugh	Australia	37	50	1562	1128	3/31	-	-	30.48	42.2	4.33	1987-2001
GD McGrath	Australia	36	30	1495	926	5/14	1	1	25.72	41.5	3.71	1995-2007
CL Hooper	West Indies	36	40	1641	1307	3/22	-	-	36.30	45.5	4.77	1988-1999
IVA Richards	West Indies	32	54	1750	1329	3/29	-	-	41.53	54.6	4.55	1975-1991

Most Career Wicket-keeping Dismissals

Player	Dismissals	Catches	Stumpings	Country	Inns	Most Dis/Inns	Career
IA Healy	49	45	4	Australia	39	3 (3ct ost)	1988-1997
PJL Dujon	48	41	7	West Indies	47	3 (3ct ost)	1981-1991
AC Gilchrist	37	33	4	Australia	25	4 (4ct ost)	1999-2007
RW Marsh	30	30	-	Australia	25	3 (3ct ost)	1975-1984
BJ Haddin	25	24	1	Australia	9	4 (4ct ost)	2005-2013
D Ramdin	23	22	1	West Indies	14	4 (4ct ost)	2007-2016
MS Wade	20	16	4	Australia	16	3 (3ct ost)	2012-2021
CO Browne	16	12	4	West Indies	9	4 (4ct ost)	1995-2005
JR Murray	16	12	4	West Indies	14	3 (2ct 1st)	1992-1997

MCGODI CRICKET RECORDS-ALL COUNTRIES

Largest attendance: 93,013 Australia v New Zealand WC Final, March 29, 2015

Largest West Indian attendance: 86,133 Australia v West Indies, January 22, 1984

Highest team total: 5/355 – Australia v England, November 22, 2022

Highest individual score: 180 JJ Roy, England v Australia, January 14, 2018 **Best bowling / innings**: 6/42 AB Agarkar, India v Australia, Jan 9, 2004

Most career runs: RT Ponting (2108 runs at average of 56.97) **Most wickets**: SK Warne (46 wickets at average of 22.60)

Most wicket keeping dismissals: IA Healy (50 – 46 catches, 4 stumpings)

Most appearances: Allan Border (60)

Highest Batting Scores at the MCG

Player	Country	Runs	Mins	BF	4 S	6s	Inns	Mat Date
ME Waugh	Australia	173	199	148	16	3	1	9 February, 2001
IVA Richards	West Indies	153*	173	130	16	1	1	9 December, 1979
DL Haynes	West Indies	123*	196	130	15	-	2	6 January, 1985
AC Vogues	Australia	112*	142	106	10	2	1	10 February, 2013
IVA Richards	West Indies	106	116	95	12	1	1	22 January 1984
J Charles	West Indies	100	164	121	8	1		10 February, 2013
DC Boon	Australia	100	173	147	8	-	1	18 March, 1992
DR Martyn	Australia	95*	110	93	6	1	1	14 January, 2005
AL Logie	West Indies	88	140	103	7	-	2	12 February, 1984
AR Border	Australia	88*	163	109	3	-	2	8 January, 1984

Best Bowling in an Innings at the MCG

Player	Country	Wkts	Runs	Overs	Mdns	Econ	Inns	Mat Date
CEL Ambrose	West Indies	5	17	8.2	1	2.04	2	15 December, 1988
ME Waugh	Australia	5	24	6.0	-	4.00	2	15 December, 1992
CEL Ambrose	West Indies	5	26	10.0	2	2.60	1	14 January, 1989
J Garner	West Indies	5	31	10.0	1	3.1	1	12 February, 1984
GB Hogg	Australia	5	32	10.0	-	3.20	2	14 January, 2005
MD Marshall	West Indies	4	18	10.0	4	1.80	1	12 December, 1991
HA Gomes	West Indies	4	31	6.0	1	5.16	2	24 January, 1982
MA Holding	West Indies	4	32	7.5	1	4.08	1	10 January, 1982
MR Whitney	Australia	4	34	10.0	1	3.40	2	18 March, 1992
A Symonds	Australia	4	35	10.0	1	3.50	2	11 January, 2001

Best Batting Partnerships at the MCG

Players	Country	Score	In	Out	Wicket	Date
DL Haynes, IVA Richards	West Indies	205	1/28	2/233	2	9 December, 1979
MG Bevan, ME Waugh	Australia	136	3/155	4/291	4	9 February, 2001
SB Smith, GM Wood	Australia	135	О	1/135	1	10 February, 1985
RT Ponting, ME Waugh	Australia	125	1/12	2/137	2	9 February, 2001
PJL Dujon, AL Logie	West Indies	124	3/52	4/176	4	12 February, 1984
SG Law, MA Taylor	Australia	118	3/46	4/164	4	19 December, 1995
DC Boon, AR Border	Australia	115	3/78	4/193	4	6 January, 1985
MJ Clarke, RT Ponting	Australia	115	1/4	2/119	2	14 January, 2005
CG Greenidge, IVA Richards	West Indies	112	1/26	2/138	2	23 January, 1982
RT Ponting, ME Waugh	Australia	111	1/7	2/118	2	11 January, 2001

Sources Consulted: Cricket Archive and ESPN Cricinfo and Wisden Cricketers' Almanac Visit www.espncricinfo.com and www.cricketarchive.co.uk

For the MCC Library on Instagram and Twitter follow @MelbCCLibrary and post #MelbCCLibrary
The MCC Library's matchday fact sheets can be accessed through the MCC website at
http://www.tinyurl.com/mccfactsheets